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1. (3 pts) Draw the structyre of styrene
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2. (3 pts) For the benzene derivative drawn below provide the IUPAC name
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4. (3 pts) For the moleculg drawn below provide the IUPAC name
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2. (3 pts) Name the compound drawn below according to the IUPAC rules
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7. (5 pts) For electrophilic 2
a. The benzene ring is
The aromaticity of b
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10. (4 points) the reaction s
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b) Alkene metathesis
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11. (8 points) For transitior

bonds the bonding of the
Draw below two drawings

drawings should clearly sh
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12. (51 points, 3 points per
the chemical equation

metal complexes used in catalysis to form carb

c;rganic substrates is an important aspect of the chemistry.
or the bonding of ethene to a generic transition metal. Your

ow the orbitals and their symmetry as well as ind
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12. (9 points) Starting from ethyne (acetylene) and ethene (ethylene) as the pnly

carbon source and any inorganic reagent or catalyst that you need, draw a syinthetic
scheme to make styrene in three steps.
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